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Calibration setup and steps
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Calibration setup and steps
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Calibration setup and steps
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ICT calibration result

ICT Outputin TU (pC)

1000

800

600

400

200

ICT cal in CR
/. Rising Width
y =0.8543x + 2.2894 A ZZHS/BHS
2 =
R2=0.9999  on910ne

y = 0.846x + 7.1803
R2=1

200 400 600 800 1000 1200
ICT Input (pC)

First and Last Name | Title of Presentation | Date | Page 5



ICT calibration result
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Highl.ICT1: 14% loss on cable
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ICT Outputin CR (pC)
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ICT calibration result
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Faraday Cup calibration result

500

400

300

200

100

FC Outputin CR (pC)

Low.FC1 cable loss

Pt = Width=1.5ns

y = 0.9666x - 1.9198
R2=0.9995

* 2n/3ns

y = 0.9654x - 4.4969
R2 = 0.9996

100 200 300 400 500
FC Outputin TU (pC)

3% loss on cable
First and Last Name | Title of Presentation | Date | Page 9



Faraday Cup calibration result
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Scope termination comparison--ICT
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Scope termination comparison--ICT
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Scope termination comparison--FC
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Scope termination comparison--FC
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ICT offset
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Conclusion

> Low.ICT1: 22% under-estimating the charge
> Highl.ICT1: 28% under-estimating the charge

> FCs: ~8% loss on cable & scope termination. For more accurate result,
the more reasonable calibration signal and the performance parameters
of the FC are required.
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